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2. [2]1FAHAH S 9,755 9,821 -66
1.5k 5,266 5,121 145 | =R 7S 1 405,00099-310,0009)= 95,000
] }_1;1—}\ 2~ Hl o] Q== : [}
ARG A 228 o] 8555 1 250,0009 50.000
-200,000¢=
2. o] 4,000 4,000 0
3.8 E Y] 489 700 211 | AEFTTAE : 489,0009-700,0009= -211,000
. [x]uFEedg 2,053 2,053 0
1. duk41) 2,053 2,053 0
2. BARAY7 LY 17,120 17,020 100
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2. 71ebgF 8w 200 200 0
2. [Z]FAY A2 HA 500 500 0
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. [=]FAYEY 11,430 11,430 0
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1 (3___111_/':%_]:‘] 1,892 1,892 0 ‘I'I"X]T_BE o R 532,000'(_ 35!000
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F ALEARR EEH] ¢ 2,442,000 132,000
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1.[2]7 FHE3 A7 620 600 20
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3. EEHEA | 550 550 0
A9 ARy 7A5EE 0 826,0009
457 A kA 91 A R 826 1,396 -5701| © ’ -570,000
A ner -1,396,0009)=
[EIANEAY AAN(5FH) 23,549 20,405 3,144
1,717 4 921 7] 22,071 18,899 3,172/ (YA _35) 71 2F 1 2,760,0009 1 1l= 2,760,000
(B YA_33)FAH] 280,000 15= 280,000
Axt4F ¢ 585,0009-733,0009= -148,000
HAE : 2,046,0009-2,658,0009= -612,000
(A-A_3F)HAF ¢ 292,000 +13= 292,000
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A RE 7]AEEF 928,000
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R ~1,364,0009=
(BEA 353)4tR Y NARgF 408,000
408,000 1 1L=
4. [2]Z2Y19 B9Es =91 &9 70 0 70
1717k A A Q91 2 m) 0 0 0
&) y B o)l 3 . K 5
2. AR A AR 70 0 70| 4R AN BTLZ (A = 70,0008+12 70,000
2. A4 AAH fA 37,104 37,859 -755
1.8+ A 2 Fu) 5% 37,104 37,859 -755
1.[2]FFLFLANTIF 14,518 14,518 0
147199 7,000 7,000 0
R =] 1,700 1,700 0
371833 5,818 5,818 0
2. [Z]1A] dukatg 18,626 19,381 ~755
1. 71 A 4 4 1 7] 200 601 -401| Q&1 <1An] @ 200,00090-601,0009= -401,000
ATEANAFEAEE °
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Skl A=y (E&) - -
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1. G981 3,960 3,960 0
3.9me A 1,800 1,800 0
1.3 g 914324 800 800 0
1.[Z]1gta g ¢ 32 800 800 0
1.9k 337 800 800 0
2.3 Yy 1,000 1,000 0
1.8t 2389 1,000 1,000 0
1. kg9 1,000 1,000 0
7.8 A g 18,384 18,596 -212
1LAASS 9 A 18,384 18,596 -212
1A ZEEAA 18,384 18,596 -212
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